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QUESTION 1

Which structure is not considered a part of the rib cage? 

A. the thoracic vertebrae 

B. costal cartilage 

C. sternum 

D. the lumbar vertebrae 

Correct Answer: D 

 

QUESTION 2

Which of these is not regulated by the parasympathetic nervous system? 

A. increased glandular activity 

B. slowed heart rate 

C. increased intestinal activity 

D. constricted blood vessels 

Correct Answer: D 

 

QUESTION 3

Simple covalent compounds show which of the following properties? 

A. They are soluble in organic solvents e.g. ethanol. 

B. They conduct electricity when molten or dissolved in water. 

C. They are crystalline solids at room temperature. 

D. They have high melting and boiling points. 

Correct Answer: A 

 

QUESTION 4

Which of the following is an example of a tissue? 

A. xylem 

B. liver 
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C. mammal 

D. hamstring 

Correct Answer: A 

A xylem is an example of a tissue. A liver is an organ, a mammal is a type of organism, and a hamstring is a muscle. 

 

QUESTION 5

What causes a moving body to resist a change in its state of motion? 

A. its momentum 

B. its speed 

C. its acceleration 

D. its inertia 

Correct Answer: D 
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